Efficiency vs Dxy(PV)
< 0.05g

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__original
—e— DQM_TT_modified_models9
[Efficienc]| —— DQM_TT__mod_modelw29

< 0.5

efficiency vs dxy(PV,
=3 [
e

o
-

40608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

H
T
i

o
)
T

efficiency vs dz(PV)

o
ey
T

1
»
J

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 -
o .
5 :
* 1 --------------.----- -----
> .
> N
Q .
& 0.8 B SRR RE
o .
= N
) .
0.6) R AR H
0.4]
] .
I HE H
o :

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


